IMPORTANT: PLEASE KEEP THIS INSTRUCTION MANUAL FOR FUTURE REFERENCE !

Copyright © 2012 by E&G Classics, Inc. All right reserved. The reproduction or utilization of this work in any form or any electronic, mechanical, or other means, no known or hereafter invented,
including xerography, photocopying, and recording, and in any information storage retrieval system is forbidden without written permission of owners.

2007-12 Jeep Wrangler E-Power Mesh Grille > l

Upper Overlay

Automotive grade masking tape, scissors, razor blade or X-Acto knife, flat blade screwdriver, emblem re- 01/24/12

TOOLS REQUIRED moval tool, jig saw or vibrating saw, Hammer and small pumch, 9mm socket and ratchet, glass cleaner
and soft, clean cloths.

Notes to the Technician/Installer:
E&G is proud to present this package to you and reminds you that for technical information, contact technical assistance at 410-381-4900. Do not attempt the installation
of any E&G product without first reading the detailed instructions. E&G Classics will not warrant damaged parts or the vehicle due to altered installation instructions.

1. Open the hood and apply masking tape to the factory grille as 2. Use a flat blade screwdriver to remove the six (6) factory push
shown. Completely surround the Jeep lettering with several lay- pins securing the top of the factory grille center section to the
ers of masking tape to protect the factory paint. radiator support panel (driver side shown).

3. Hold the top edge of the grille and give the grille several quick tugs 4. Carefully rotate the turn signal bulbs to remove them from the
across the bottom edge to unclip it from the support. Do not pull lamp sockets attached to the factory grille.
the grille too far out, the turn signal bulbs are attached to the back
of the grille.
< ADE

.Awml.uEnB.!E% Copyright 2012 by E&G Classics, Inc. Visit us online today at www.egclassics.com

EXPERT QUALITY CRAFTSHANSHII



pry hete !

5. If using a tucking tool to remove the Jeep lettering, do so from the 6. Cut out and align the upper grille cutting template and tape it in
top down. Do not work from the bottom up or you will damage place as shown. Use a sharpie or grease pencil to mark the side of
the paint at the tops of the letters. You can also use fishing line to the grille where the template folds down on the side. Untape the
cut through the factory double faced tape. template, turn it over, align it on the opposite side and tape it into

place and mark the side of the grille.

7. Cut out and align the lower grille cutting template and tape it in 8. Use a jig or vibrating saw to cut through the sides of the grille
place as shown. Use a sharpie or grease pencil to mark the side of where marked in the previous steps.
the grille where the template folds down on the side. Untape the
template, turn it over, align it on the opposite side and tape it into
place and mark the side of the grille.

9. Cut across the top and bottom openings of the factory grille where

shown. 10. The finished cut should look like this. Factory grille center section is
not reused. Remove the protective masking tape once the cutting
is finished.

Copyright 2012 by E&G Classics, Inc. Visit us online today at www.egclassics.com



11. Align the cut factory grille over the E&G E-Power mesh grille as
shown. Align the supplied upper grille reinforcement across the

top edge of the inside of the factory grille prior to U-shaped grille
retainer installation.

12. Align the U-shaped grille retainers across the top of the grille and
install a #8-32 ESNA half nut and tighten until the grille surround
is flush with the factory grille.

13. Align the U-shaped grille retainers into the lower corners of the
grille and install a #8-32 ESNA half nut and tighten until the grille
surround is flush with the factory grille.

14. Align the U-shaped grille retainers onto each side of the grille and
install a #8-32 ESNA half nut and tighten until the grille surround
is flush with the factory grille.

15. Align the U-shaped grille retainers across the bottom of the grille
and install a #8-32 ESNA half nut and tighten until the grille sur-
round is flush with the factory grille.

Importarit: Apply black paint to all studs to conceal them once the
E-Power mesh grille is installed onto the vehidle.

16. If the grille will use the supplied emblem plate, remove the center

12 point stud from the grille using a small punch and mallet from
the reverse side.

Copyright 2012 by E&G Classics, Inc.

Visit us online today at www.egclassics.com




qesl

17. Install the supplied .045" x 1” double faced tape onto the back of
the factory Jeep lettering. Make sure the tape does not protrude
past the edges of the letters.

18. Cut out the supplied template using an X-Acto knife {as shown).
Carefully align the template over the supplied emblem mounting
plate for lettering installation.

19. Peel off the double faced tape backing, align the Jeep lettering
onto the emblem mounting plate and install it onto the E-Power
grille using the large black plastic washers between the emblem

plate and the mesh. You might have to clip @ mesh wire in order
to center the emblem.

20. Turn the grille over and secure the emblem assembly using the
supplied large black plastic washers and the #8-32 ESNA half nuts.

21. Align the assembled grille back onto the vehicle and clip the lower
edge into place.

22 Reinstall the factory push pins across the top edge (driver side
shown) and close the hood to finish the installation.

Copyright 2012 by E&G Classics, Inc.

Visit us online today at www.egclassics.com



Heavy Chrome Mesh Part #1279-0104-07EPC ] Heavy Black Mesh Part #1137-0104-11EP

Quantity: | Description: Part Number: Quantity: | Description: Part Number:
1 E-Power Mesh Grille it 1 E-Power Mesh Grille it
1 Installation Hardware Kit 1279-1902-07EP 1 Installation Hardware Kit 1279-1902-07EP
10 U-Shaped Grille Retainers 1999-0719-00 10 U-Shaped Grille Retainers 1999-0719-00
1 Upper Grille Reinforcement 1279-0151-07 1 Upper Grille Reinforcement 1279-0151-07
4 Large Black Plastic Washers 1999-0264-00 4 Large Black Plastic Washers 1999-0264-00
12 #8-32 ESNA Half Nuts 1999-0065-00 12 #8-32 ESNA Half Nuts 1999-0065-00
1 Upper Grille Cutting Template 1279-0068-07 1 Upper Grille Cutting Template 1279-0068-07
1 Bottom Grille Cutting Template 1279-0069-07 1 Bottom Grille Cutting Template 1279-0069-07
1 Emblem Mounting Plate 1279-0158-07 1 Emblem Mounting Plate 1279-0158-07
1 Emblem Mounting Template 1279-0000-07 1 Emblem Mounting Template 1279-0000-07
8" 045" x 1" Double Faced Tape 3004-9244-92 8” .045" x 1” Double Faced Tape 3004-9244-92

MADE IN

E&G Classics Warranty Information:

E&G Classics, Inc. warrants its chrome parts and products to be free from defects in ma-
terial, workmanship or finish for Thirty-Six (36) months from the date of shipment by E&G.
This warranty is limited to the repair or replacement, at E&G Classics option, of the defec-
tive part or product.Full E&G Classics warranty information is available online @
www.egclassics.com. Just click on the product warranty icon.

For E&G Classic Product Returns:

Please contact the authorized E&G Classics Dealer where you purchased our prod-
uct from in regards to any workmanship or warranty claims. All items returned to
E&G Classics must have a return authorization number issued by us for inspection
or a defective product and or warranty issue. All merchandise sent back to E&G
Classics without proper paperwork or authorization will be rejected and returned.




This page left blank for
cutting templates.



007 -2012 Jeep Wrargler
l.opezr Custrngc cmp.ate
Fart £ 12/9 - Clos — 0/2F

— — — — — —— — i s e | e s e e e s e s e e e W, e g e s e s e e

CUT T-FFPI aTr
N1 S Y U N ) I

—

CdT TEYFLATE
ar EOC T 1 TRE

—_———— . — o  — — — . e ]

~007 2Jle _eep Wrangler
Lewe~ Cutting Templo le
Cart H 127¢ - D0GY 0/-F




This page left blank for
embiem template.



el seep “rangeer 4 I~ E Fowes Enklem Flobe Templolz
Poarz # 1241 - QU39 - OFEF

-
NN




